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The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level Pakistan Studies 2059, 
and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s curriculum 
and assessment objectives. 

In this booklet candidate responses have been chosen from the November 2020 exam series to exemplify a range of 
answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions, mark schemes and inserts used here are available to download from the School Support Hub. These 
files are: 

2059 November 2020 Question Paper 1
2059 November 2020 Mark Scheme 1

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

Typesetting instructions: 

1. Paragraph 1: update subject title and syllabus code.
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Typesetting instructions: 

1.	 Update master pages: A-Master and C-Master to show correct 
paper number, subject and syllabus code. 

How the candidate could have improved their answer
•	 (a) The candidate made four correct identifications of reasons stated in Source A for why Queen Victoria was made 

Empress of India (they only needed to identify three).
•	 (b) The candidate drew two inferences from Source B about Tipu Sultan. The inferences, that Tipu was a ‘fierce 

fighter’ and ‘powerful’, were supported by the source.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 
helps your learners to refine their exam technique.

Common mistakes candidates made in this question
•	 (b) Many candidates either wrote about the history or background to Source B, or simply described what they saw 

in Source B. Candidates needed to draw an inference from the source and say what the source made them think 
about an issue. Then they needed to support that inference with what could be seen in the source.

Lists the common mistakes candidates made 
in answering each question. This will help your 
learners to avoid these mistakes and give them 
the best chance of achieving the available marks.

Often candidates were not awarded 
marks because they misread or 
misinterpreted the questions. 

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the Examiner comments. 

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 
to interpret the standard of 
Cambridge exams so you can 
help your learners to refine 
their exam technique.

Answers are by real candidates in exam conditions. 
These show you the types of answers for each level.
Discuss and analyse the answers with your learners in 
the classroom to improve their skills.
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Question 1

Example Candidate Response – high Examiner comments

1  The candidate makes four clear 
points here, although only three are 
needed to be awarded the marks.

Mark for (a) = 3 out of 3

2  The candidate draws two 
inferences from Source B about 
Tipu Sultan. They support their 
inferences that Tipu was a ‘fierce 
fighter’ and ‘powerful’ with evidence 
from the source.

Mark for (b) = 5 out of 5

3  The candidate gives their first 
explanation.

4  The candidate gives a second 
more developed explanation.

1

2

3

4
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Example Candidate Response – high, continued Examiner comments

5 The candidate successfully 
gives two explanations of the 
impacts of railways on the lives 
of Indian people in the nineteenth 
century. Their second explanation is 
rather more developed so they are 
awarded 7 marks.

Mark for (c) = 7 out of 7

6 The candidate gives a 
developed explanation.

7 The candidate identifies the 
issue but it lacks development. Their 
answer is in Level 2 at this point.

6

7

5
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Example Candidate Response – high, continued Examiner comments

8  The candidate gives a 
developed explanation here.

9  The candidate gives a further 
developed explanation here. The 
answer moves into Level 4.

10  The candidate needs to add 
more depth to their final explanation 
to take it beyond a summary.

Mark for (d) = 9 out of 10

Total mark awarded = 
24 out of 25

How the candidate could have improved their answer
•	 (a) The candidate correctly identified four reasons stated in Source A about why Queen Victoria was made 

Empress of India, however they only needed to identify three.
•	 (b) The candidate drew two inferences from Source B about Tipu Sultan. The inferences that Tipu was a ‘fierce 

fighter’ and ‘powerful’, were supported by the source.
•	 (c) The candidate successfully gave two explanations of the impacts of railways on the lives of Indian people in the 

nineteenth century. The second explanation was rather more developed and so they were awarded 7 marks.
•	 (d) The candidate provided a strong analysis of the reasons why the War of Independence was relatively short-

lived. The candidate began with a developed explanation of different aims of Indian groups in 1857 as required 
by the question and their examples were relevant and helpful to the explanation. The answer moved into Level 4 
when they provided a developed explanation of the weakness of the Indian army contrasted with the strength of 
the British forces. The candidate attempted an evaluation but it read more as a summary of arguments already 
made. To improve their answer and be awarded full marks, the candidate needed to make a judgement which was 
supported with evidence.

8

9

10
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Example Candidate Response – middle Examiner comments

1  The candidate correctly 
identifies three reasons from Source 
A about why Queen Victoria was 
made Empress of India.

Mark for (a) = 3 out of 3

2  The candidate draws two 
inferences from Source B regarding 
Tipu Sultan’s bravery and power. 
They support both with information 
that can be seen in the source.

Mark for (b) = 5 out of 5

1

2
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Example Candidate Response – middle, continued Examiner comments

3  The candidate identifies but 
does not explain three impacts of 
the railways on the Indian people 
in the nineteenth century. These 
identifications are superficial and 
lack focus so the answer is placed 
in Level 2.

Mark for (c) = 4 out of 7

3
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Example Candidate Response – middle, continued Examiner comments

4  The candidate does not go 
beyond identification.

5  This is a stronger, more 
developed paragraph.

6  The candidate struggles to go 
beyond identification here.

Mark for (d) = 4 out of 10

Total mark awarded = 
16 out of 25

How the candidate could have improved their answer
•	 (c) The candidate identified three impacts of the railways on the Indian people in the nineteenth century, but to 

improve their answer, they needed to explain these. Their identifications were superficial and lacked focus.
•	 (d) The candidate provided an explanation for the short life of the War of Independence. Their explanation 

concerned different aims (in this case loyalties) of Indian groups but it lacked development and clarity.

5

6

4
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Example Candidate Response – low Examiner comments

1 The candidate identifies 
two reasons given in Source A 
for Queen Victoria being made 
Empress of India. They need to 
identify one more to be awarded all  
marks.

Mark for (a) = 2 out of 3

2 The candidate makes an 
unsupported inference.

3 The candidate makes a 
supported inference and the answer 
moves to Level 3.

4 The candidate draws two 
inferences regarding Tipu Sultan’s 
bravery and strength but they only 
support the second inference. They 
need to support this inference with 
an additional feature about Tipu’s 
bravery from the source to be 
awarded full marks.

Mark for (b) = 4 out of 5

5 The candidate correctly 
identifies that railways were 
crucial for transport and trade but 
doesn’t develop this sufficiently. 
The candidate could mention the 
consolidation of British control and 
the provision of a cause for Indian 
opposition to be awarded more 
marks.

Mark for (c) = 2 out of 7

1

2

3

4

5



Example Candidate Responses – Paper 1

13

Example Candidate Response – low, continued Examiner comments

6  The candidate struggles 
to focus on the demands of 
the question and makes vague 
comments relating to a lack of 
organisation. Their answer lacks 
focus, depth and specificity.

Mark for (d) = 1 out of 10

Total mark awarded = 
9 out of 25

How the candidate could have improved their answer
• (a) The candidate identified two reasons given in Source A for Queen Victoria being made Empress of India. They

needed to identify one more reason to be awarded full marks.
• (b) The candidate drew two inferences regarding Tipu Sultan’s bravery and strength though only the second

inference was supported. To improve their answer, the candidate needed to use an additional feature from the
source to support the inference about Tipu’s bravery.

• (c) The candidate correctly identified that railways were crucial for transport and trade but needed to develop this
point more. To improve their answer, the candidate could have mentioned the consolidation of British control and
the provision of a cause for Indian opposition.

• (d) The candidate needed to focus on the demands of the question. They provided only vague comments relating
to a lack of organisation and the answer lacked focus and specificity.

Common mistakes candidates made in this question
• (a) Most candidates were awarded 2 or 3 marks on this question as a result of making correct identifications. When 

candidates scored less than three marks it was usually because they provided only one or two identifications. This 
may seem like a marginal issue but the addition of three to five marks on these low-tariff questions could improve a 
candidate’s overall outcome by a grade. Some answers were very long and candidates needed to remember that 
they only needed to give three reasons for full marks. This question could be answered in three sentences or three 
bullet points; anything more was unnecessary and a waste of candidates’ time.

• (b) Many candidates either wrote about the history or background to Source B, or simply described what they saw in 
Source B. Candidates needed to draw an inference from the source and say what the source made them think 
about an issue. Then they needed to support that inference with what could be seen in the source.

• (c) The question required explanations of the impacts of railways on the lives of the Indians in the nineteenth 
century. There were some irrelevant responses about the impact of railways on the subcontinent relating to the 
mass migration at the time of partition. Others could only identify such generic words as ‘ease’ and ‘quickness’ 
regarding the benefits of introducing railways in India. The most successful answers usually provided three clear 
paragraphs, each one focusing on one impact. Those paragraphs should state an impact of the railways and 
support that statement with evidence, thereby explaining it. Supporting evidence might include relevant detail 
concerning events, names and dates.

• (d) Many candidates focused on the reasons why the war was caused and only made a brief reference about why it 
did not last long. The most effective answers began with supported discussions of the different aims of Indian 
groups; clear examples were given, making reference to events and dates. These answers discussed other factors 
for the short life of the War of Independence, not identified in the question. The question required candidates to 
bring into their answers some knowledge gleaned from their wider study. Strong answers addressed the relative 
strengths of the Indian and British forces and supported their discussions with relevant, accurate information. Other 
answers however were poorly organised, vague and lacked focus and supporting detail. 

6
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Question 2

Example Candidate Response – high Examiner comments

1  The candidate provides four 
features to describe the Jizya Tax.

Mark for (a) = 4 out of 4

2  The candidate gives a strong 
developed explanation.

3  This is not quite so well 
developed, but is a good Level 3 
explanation.

1

2

3
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Example Candidate Response – high, continued Examiner comments

4  The candidate gives another 
well-developed explanation in this 
paragraph.

5  The candidate provides three 
clearly focused paragraphs on the 
reasons why Shah Waliullah was 
considered to be an important figure 
for the Muslim Community in the 
eighteenth century. Paragraphs 
one and three are considered to be 
developed explanations because of 
the strength of accurate, relevant 
supporting detail included.

Mark for (b) = 7 out of 7 

6  This is a good, strong paragraph 
containing developed ideas. As 
directed by the question, the 
candidate begins with a discussion 
of the Two-Nation Theory and 
includes enough details to ensure 
this is a developed explanation.

5

6

4
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Example Candidate Response – high, continued Examiner comments

7  The candidate’s answer moves 
into Level 4 because they consider 
other contributions not named in the 
question.

8  The candidate considers other 
contributions here and their answer 
is rather more developed than the 
paragraph immediately above which 
places the answer in Level 4.

7

8
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Example Candidate Response – high, continued Examiner comments

9  The candidate writes another 
well-developed paragraph. The 
answer moves to Level 4 because 
they consider Sir Syed Ahmad 
Khan’s writing and contributions to 
education. 

10  The candidate makes the 
judgement that the most important 
contribution was the Two-Nation 
Theory and supports this with 
reference to its influence on later 
thinkers which places the answer in 
Level 5.

Mark for (c) = 13 out of 14

Total mark awarded = 
24 out of 25

How the candidate could have improved their answer
(c) The candidate needed to further develop their judgement/evaluation to be awarded full marks.

9

10
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Example Candidate Response – middle Examiner comments

1  The candidate gives two 
features that describe the Jizya Tax. 
They need to provide two more to 
be awarded full marks. 

Mark for (a) = 2 out of 4

2  The candidate’s identifications 
move the answer into Level 2.

3  The candidate gives a 
Level 3 explanation, but it lacks 
development.

4  The candidate writes a stronger 
paragraph which shows a more 
developed explanation.

5  The candidate provides a 
good answer to the question; 
it is organised into three clear 
paragraphs. The first is a 
little disjointed as it makes 
an identification of un-Islamic 
practices and then Shah Waliullah’s 
authorship of 51 books. 

Mark for (b) = 7 out of 7

1

2

3

4

5
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Example Candidate Response – middle, continued Examiner comments

6  The candidate’s imprecise 
introduction suggests that they 
do not fully understand the 
requirements of the question. 

7  The candidate briefly describes 
the work of Sir Syed Ahmad Khan 
and notably the Two-Nation Theory. 
It is a Level 3 explanation here and 
has not been developed.

8  This paragraph is not relevant to 
the question.

Mark for (c) = 7 out of 14

Total mark awarded = 
16 out of 25

How the candidate could have improved their answer
• (a) The candidate needed to identify two more relevant features/points to be awarded full marks.
• (b) The candidate identified un-Islamic practices and then Shah Waliullah’s authorship of 51 books. Their answer 

fell short of a developed explanation, and they needed to clearly explain the impact of these books.
• (c) The candidate needed to maintain a sharper and better sustained focus on Sir Syed Ahmad Khan’s other work 

to take their answer to Level 4. 

6

7

8
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Example Candidate Response – low Examiner comments

1  The candidate’s description 
of the Jizya Tax is not clear. They 
identify two features but their 
answer lacks focus and is vague.

Mark for (a) = 2 out of 4

Typesetting instructions: 

1. Question X heading in 'Main heading 18pt' paragraph style.
2. Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3. In Examiner comments, all = 'Examiner comments' paragraph style.
4. 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5. Do not change the column widths.

1
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Example Candidate Response – low, continued Examiner comments

2  The candidate provides a single 
paragraph regarding the work of 
Shah Waliullah. They struggle to 
maintain focus though the impact 
of his translation of the Quran is 
clear. The candidate needed to 
show similar clarity on two of Shah 
Waliullah’s other contributions to be 
awarded full marks. 

Mark for (b) = 5 out of 7

3  The candidate presents a 
limited biography of Sir Syed Ahmed 
Khan and the points they make are 
not developed. Their answer reads 
as a narrative rather than a lucid, 
coherent answer directed towards 
the question set.

Mark for (c) = 3 out of 14

Total mark awarded = 
10 out of 25

How the candidate could have improved their answer
• (a) The candidate provided a lengthy but rather confused description of the Jizya Tax. They identified two clear

features but their answer needed to be more focused and clear.
• (b) To improve their answer and be awarded full marks, the candidate needed to explain two more of Shah

Waliullah’s other contributions.
• (c) The candidate needed to further develop the points they made in their answer. It read as a narrative rather than

a clearly expressed, coherent answer directed towards the question set.

Common mistakes candidates made in this question
• (a) Some candidates needed to demonstrate more knowledge about the given subject, Jizya Tax. Answers could

be presented relatively briefly in either four sentences or four bullet points.
• (b) Some candidates included little relevant information in their answers. As a result, their answers were often

brief or unfocused. Some candidates also lacked organisation in their answers and did not develop the points they
made. They only needed to give three clear and distinct paragraphs and each paragraph needed to contain an
identified reason supported with accurate historical information such as events or dates.

• (c) This question demanded some knowledge of the work of Sir Syed Ahmad Khan in contribution to the Pakistan
Movement. The most effective answers began with analyses of his Two-Nation Theory, as indicated by the
phrasing of the question and moved beyond this to consider his other offerings. However, some candidates tended
to focus only on the Two-Nation Theory and ignored Sir Syed Ahmad Khan’s other works. Some candidates wrote
vague, unfocused answers which ignored sentencing and paragraphing and lacked precise detail and supporting
evidence.

2

3
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Question 3

Example Candidate Response – high Examiner comments

1  The candidate indentifies more 
than four correct features of the 
Hijrat Movement. 

Mark for (a) = 4 out of 4

1
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Example Candidate Response – high, continued Examiner comments

2  This is a strong and well-
developed paragraph.

3  The candidate writes three 
very clear paragraphs and offers 
explanations for there being three 
separate Round Table Conferences 
between 1930 and 1932. These 
paragraphs link the failure of 
Round Table Conferences to the 
need for subsequent conferences 
quite clearly and move away from 
description (Level 2) and into 
explanation. The first paragraph is 
considered to be developed.

Mark for (b) = 7 out of 7

2

3
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Example Candidate Response – high, continued Examiner comments

4  The candidate gives a very 
direct answer to the question 
set, beginning with a developed 
paragraph on Direct Action Day 
which places the answer at Level 3.

5  This paragraph is a well-
supported piece which looks at 
Direct Action Day and takes the 
answer into Level 4.

4

5



Example Candidate Responses – Paper 1

25

Example Candidate Response – high, continued Examiner comments

6  This is a developed Level 4 
paragraph.

7  This is a Level 4 paragraph.

6

7
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Example Candidate Response – high, continued Examiner comments

8  This is a Level 4 paragraph.8
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Example Candidate Response – high, continued Examiner comments

9  The candidate’s evaluation 
is considered and detailed. They 
conclude with a very secure 
evaluation which gives two 
examples of the impacts made. This 
is a very confident answer which 
includes a skilful evaluation and is 
awarded full marks.

10  The candidate makes a very 
direct answer to the question 
set, beginning with a developed 
paragraph on Direct Action Day. The 
second paragraph, another well-
supported piece, takes the answer 
into Level 4 and follows this up with 
similar sustained considerations of 
other factors not identified in the 
question. The candidate concludes 
with a very secure evaluation which 
gives two examples of impacts 
made. This is a very confident 
answer which includes a deft and 
skillful evaluation.

Mark for (c) = 14 out of 14

Total mark awarded = 
25 out of 25

How the candidate could have improved their answer
(a) The candidate identified four correct features of the Hijrat Movement. This was a very long answer that could easily
have been compressed into four sentences without any loss of marks.

9

10
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Example Candidate Response – middle Examiner comments

1  The candidate writes a clearly 
directed answer and correctly 
identifies four features of the Hijrat 
Movement.

Mark for (a) = 4 out of 4

1
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Example Candidate Response – middle, continued Examiner comments

2  The candidate neatly organises 
their answer into the suggested 
three paragraphs. They describe the 
Round Table Conferences instead of 
explaining why each one was felt to 
be necessary.

Mark for (b) = 4 out of 7

2
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Example Candidate Response – middle, continued Examiner comments
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Example Candidate Response – middle, continued Examiner comments

3  The candidate organises their 
answer into discrete paragraphs but 
rather than explaining the role of 
Direct Action Day in the 1940s, they 
provide a rather vague narrative. 

Mark for (c) = 6 out of 14

Total mark awarded = 
14 out of 25

How the candidate could have improved their answer
• (b) The candidate needed to explain why there were Three Round Table Conferences rather than give a

description of each conference.
• (c) The candidate needed to explain the significance of Direct Action Day in the creation of Pakistan rather than

provide a vague narrative of events. This would have improved their answer and taken it to Level 3.

3
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Example Candidate Response – low Examiner comments

1  The candidate makes one 
correct identification.

Mark for (a) = 1 out of 4

1
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Example Candidate Response – low, continued Examiner comments

2  The candidate provides a 
narrative of the Round Table 
Conferences without explaining why 
they were necessary.

Mark for (b) = 4 out of 7

3  The candidate addresses the 
question in a basic manner so their 
answer stays at Level 1.

3

2
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Example Candidate Response – low, continued Examiner comments

4  The candidate provides some 
narrative/description here, but the 
rest of the answer is irrelevant.

Mark for (c) = 3 out of 14

Total mark awarded = 
8 out of 25

How the candidate could have improved their answer
• (a) The candidate needed to describe the Hijrat Movement with supporting details. They could have included that

it was a religious protest against British government, it took place in 1920 and many migrants died on the return
journey.

• (b) The candidate needed to explain why there were three Round Table Conferences, rather than give a narrative
about what the conference was.

• (c) The candidate appeared to know very little about the role and importance of Direct Action Day and had difficulty
sustaining a focused answer. They needed to provide correct information and tie the relevant information they did
provide to the question properly.

Common mistakes candidates made in this question
• (a) Many candidates wrote a much longer answer than was necessary.
• (b) Many candidates did not provide a detailed enough description of the conferences, for example including

registers of attendance and why three were held. Many explained why the first conference was held but then just
described the events of the following two. The question asked candidates to explain why they were held, so they
needed to link the failure of the previous conference.

• (c) Most candidates did not focus on the key elements of the question and described instead of explained. Some
candidates were confused about which events were the most relevant, especially as some included those in the
1930s which were irrelevant.

• (c) Candidates needed to consider and evaluate the contribution of Direct Action Day to the creation of Pakistan
and the question imposed a time frame of the 1940s. Some found it difficult to relate how the different events
contributed to the creation of Pakistan. They could have included the Cripps Mission and the Quit India Resolution,
both in 1942, or the Cabinet Mission Plan of 1946. Higher level answers discussed Direct Action Day, made
detailed explanations of its significance, supported this with relevant, accurate evidence and then moved on
to other factors, as suggested above. The most effective answers concluded with evaluations of the role of the
various factors and so gave a direct, supported answer to the question set.

4
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Question 4

Example Candidate Response – high Examiner comments

1  The candidate identifies four 
clear features of the Organisation of 
Islamic Countries.

Mark for (a) = 4 out of 4

1
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Example Candidate Response – high, continued Examiner comments

2  The candidate gives two 
explanations but does not develop 
them further so the answer is placed 
in Level 3.

Mark for (b) = 6 out of 7

3  The candidate gives an 
explanation but it lacks development 
so the answer is placed in Level 3.

2

3
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Example Candidate Response – high, continued Examiner comments

4  The candidate describes and 
narrates rather than explains here 
which places the answer in Level 2.

5  The candidate gives details of 
the difficulties in the relationship so 
the answer moves to Level 4 here.

6  The candidate makes good use 
of data and statistics here.

4

6

5



Example Candidate Responses – Paper 1

38

Example Candidate Response – high, continued Examiner comments

7 The candidate provides a 
sound commentary on the nature of 
Pakistan’s relations with the United 
Kingdom (UK) and the 
Commonwealth after 1947. They 
explain some positive features of 
the relationship, which takes the 
answer into Level 3.  After some 
brief comments, the answer moves 
into Level 4 when the candidate 
details some of 
the difficulties or tensions in the 
relationship. There is some balance 
in the answer.

Mark for (c) = 12 out of 14

Total mark awarded = 
22 out of 25

How the candidate could have improved their answer
• (b) The candidate presented two explanations but did not develop either of them. To improve their answer and be

awarded full marks, they could have organised it into three lucid paragraphs, each one containing an explanation
with some supporting information.

• (c) The candidate needed to evaluate the overall nature of Pakistan’s relationship with the UK to be awarded full
marks.

7
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Example Candidate Response – middle Examiner comments

1  The candidate identifies more 
than four clear features of the 
Organisation of Islamic Countries, 
but only four are required.

Mark for (a) = 4 out of 4

1
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Example Candidate Response – middle, continued Examiner comments

2  The candidate gives a narrative 
of events which lacks focus.

3  The candidate gives a narrative 
of events which lacks focus and 
development.

4  The candidate presents an 
answer which lacks focus until the 
last paragraph, where they give 
some explanation for Ayub Khan’s 
assumption of power. 

Mark for (b) = 5 out of 7

3

2

4
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Example Candidate Response – middle, continued Examiner comments

5  The answer lacks detail here. 

6  This is incorrect.

7 The candidate needs to develop 
this section further.

5

6

7
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Example Candidate Response – middle, continued Examiner comments
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Example Candidate Response – middle, continued Examiner comments

8  The candidate’s answer is 
vague, lacks direction and contains 
some inaccuracies. 

Mark for (c) = 5 out of 14

Total mark awarded = 
14 out of 25

How the candidate could have improved their answer
• (b) The candidate’s answer lacked focus until the last paragraph, where they gave some explanation of Ayub 

Khan’s assumption of power. To improve their answer, they needed to include more explanation of this quality.
• (c) To improve their answer and move it into Level 3, the candidate needed to constructing an argument based on 

the strength or lack of it in Pakistan’s relationship with the UK after 1947 and support that with clear evidence. 

8
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Example Candidate Response – low Examiner comments

1  The candidate demonstrates 
little knowledge about the identified 
issue so they are awarded no 
marks.

Mark for (a) = 0 out of 4

1
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Example Candidate Response – low, continued Examiner comments

2 The candidate makes a brief 
identification but then loses sight 
of the question and makes vague 
assertions and generalisations.

Mark for (b) = 2 out of 7

3 The candidate needs to 
show evidence of the successful 
relationship between Pakistan 
and the UK.

Mark for (c) = 4 out of 14

Total mark awarded = 
6 out of 25

How the candidate could have improved their answer
• (a) The candidate demonstrated little knowledge about the identified issue.
• (b) The candidate made a brief identification but then lost sight of the question and only provided vague assertions 

and generalisations.
• (c) The candidate needed to provide an overview of each of the different sides of the issue. They could have 

included evidence of a successful relationship between Pakistan and the UK, perhaps in two detailed paragraphs 
containing specific appropriate information and then contrasted that with carefully chosen evidence of a more 
difficult relationship. 

Common mistakes candidates made in this question
• (a) Some candidates did not seem to be able to remember enough relevant information on the issue given.
• (b) Many candidates provided narratives of the event without explaining it, or why it might have been significant

and some provided vague narratives which lacked depth or detail.
• (c) Some candidates described all they knew about the relationships, without attempting to explain the degree of

their success.

3
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Question 5

Example Candidate Response – high Examiner comments

1  The candidate identifies two 
features of the Security of Tenure 
scheme: ‘they could not sell their 
property’ and ‘they could not evict 
tenants’.  

Mark for (a) = 2 out of 4

2  This is a Level 3 explanation 
that lacks development.

3  This is a Level 3 explanation 
that lacks development.

1

3

2
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Example Candidate Response – high, continued Examiner comments

4 This is a Level 3 explanation 
that lacks development.

5 The candidate presents three 
clear issues affecting Zia-ul-Haq’s 
government. As it is recommended, 
the candidate organises their 
answer into three clear and distinct 
paragraphs, each one focusing on a 
given issue. 

Mark for (b) = 7 out of 7

6 The candidate writes a clearly 
focused, developed explanation 
here which places the answer in 
Level 3.

7 The candidate’s answer moves 
into Level 4 when they consider 
other factors not identified in 
question.

4

5

6

7
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Example Candidate Response – high, continued Examiner comments

8  The candidate writes a Level 4 
paragraph but their explanation is 
limited.

9  The candidate gives a stronger 
and developed explanation here so 
the answer moves into Level 4.

10  The candidate gives a 
developed Level 4 paragraph. 

11  The candidate’s explanation 
here lacks development, though the 
answer is still in Level 4.

12  The candidate indicates an 
evaluation but does not make one.

13  The candidate provides a strong 
answer which gives a balanced 
assessment of factors involved in 
the replacement of Benazir Bhutto’s 
government in 1996. Taking a 
lead from the question set, the 
candidate begins with privatisation 
and quickly moves to Level 3. Their 
answer moves to Level 4 when they 
consider other factors such as family 
feuds and economic issues.

Mark for (c) = 12 out of 14

Total mark awarded = 
21 out of 25

How the candidate could have improved their answer
•	 (a) The candidate needed to give two more relevant points with supporting details such as the fact that Zulfikar Ali 

Bhutto introduced the scheme or tenant farmers were encouraged to make improvements to their lands. 
•	 (c) The candidate wrote a successful conclusion. To improve their answer and take it into Level 5, they needed to 

evaluate the factors and make a clear, supported decision about which was most important.

8

9

10

11
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Example Candidate Response – middle Examiner comments

1  The candidate gives no answer 
to the question, presumably 
because they are unable to recall 
any information regarding the 
Security of Tenure Scheme. 

Mark for (a) = 0 out of 4

1



Example Candidate Responses – Paper 1

50

Example Candidate Response – middle, continued Examiner comments

2  The candidate makes a clear 
point about the issue of refugees 
confronting Zia-ul-Haq. This is a 
Level 3 explanation here.

3 The candidate makes a point 
about the breakdown of law and 
order. This is a Level 3 explanation.

4  This paragraph lacks details.

Mark for (b) = 6 out of 7
4

3

2
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Example Candidate Response – middle, continued Examiner comments

5  The candidate gives a narrative 
of events with accurate information 
but they give no explanation. 

5
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Example Candidate Response – middle, continued Examiner comments

6  The candidate gives a strong 
narrative. The information they 
include is accurate but lacks depth 
and supporting detail. To bring their 
answer up to Level 3 they need 
to explain any one of the named 
factors. 

Mark for (c) = 6 out of 14

Total mark awarded = 
12 out of 25

How the candidate could have improved their answer
• (a) The candidate needed to answer the question.
• (b) The candidate made two clear points about the issues which confront Zia-ul-Haq, namely refugees and the 

breakdown in law and order. These were reasonably well explained and the candidate was awarded six marks. To 
improve their answer and be awarded full marks, the candidate needed to slightly develop either one of these 
issues with a specific event or example.

• (c) The candidate wrote a strong narrative. They included accurate information, but they needed to add depth and 
supporting detail and explain any of the named factors a little further to place their answer in Level 3. 

6
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Example Candidate Response – low Examiner comments

1  The candidate gives an answer 
but it contains nothing of merit, so 
they are awarded no marks.

Mark for (a) = 0 out of 4

2  The candidate recognises that 
Zia-ul-Haq faced opposition but they 
do not explain this. The answer is in 
Level 2.

Typesetting instructions: 

1. Question X heading in 'Main heading 18pt' paragraph style.
2. Insert image of candidate script for this question from file name 

indicated in the cell, into the table below in the left column, and the 
numbered comments in the right column.

3. In Examiner comments, all = 'Examiner comments' paragraph style.
4. 'Total mark awarded...' in 'Examiner comments' paragraph style with 

'Bold' character style.
5. Do not change the column widths.

1

2



Example Candidate Responses – Paper 1

54

Example Candidate Response – low, continued Examiner comments

3  The rest of the candidate’s 
answer is vague and lacks clarity.

Mark for (b) = 3 out of 7

4  This is a Level 2 paragraph: the 
candidate identifies an issue but 
does not explain it.

3

4
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Example Candidate Response – low, continued Examiner comments

5  The candidate identifies another 
issue but does not explain it, so their 
answer stays at Level 2.

Mark for (c) = 4 out of 14

Total mark awarded = 
7 out of 25

How the candidate could have improved their answer
• (a) The candidate needed to describe the Security of Tenure scheme with relevant points such as: Zulfikar Ali

Bhutto introduced the scheme, he gave tenant farmers the first right of purchase of the land they worked on, the
landowners could not sell the land to a third party or landowners had too much power or influence to make the
scheme work.

• (b) To improve their answer, the candidate could have a sharper focus on the question by giving a more relevant
reason why it became difficult for Zia-ul-Haq to govern Pakistan and explain the points made.

• (c) The candidate’s answer lacked historical evidence. They made two identifications but needed to develop one of
these and support it with accurate historical evidence (a date or event for example) for their answer to move up to
Level 3.

Common mistakes candidates made in this question
• (a) Many candidates did not demonstrate enough knowledge about the Security of Tenure scheme.
• (b) Many candidates either provided brief identifications or elaborated narratives but, in either case, did not explain

or develop their explanations with relevant historical evidence.
• (c) Many answers provided narrative and descriptive accounts which lacked in-depth development. Candidates

should be urged to use such phrases as ‘This was important because…’ or ‘As a result of this…’. Such ‘language
of explanation’ as this would enable candidates to link their arguments to the question set and be awarded higher
marks.

5
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